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Improving the Cut by Exploiting Integrality

Monoidal strengthening*
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*E. Balas, R. Jeroslow, Strengthening cuts for mixed integer programs, 1980
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Intersection Cuts for MIQCPs

Maximal quadratic-free sets*
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*G. Muinoz and F. Serrano, Maximal quadratic-free sets, 2021
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Solving the Monoidal Strengthening Problem

The quadratic case
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Solving the Lifting Problem

The guadratic case
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Solving the Lifting Problem

The quadratic case
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Comparing Monoidal and Lifting

... and realizing that they are the same
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How Does It Perform In Practice?

Branch-and-Bound Experiments
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How Does It Perform In Practice?

Branch-and-Bound Experiments

pure intersection cuts monoidal relative

set §instances solved time nodes solved time nodes time nodes

clean 189 113 221.87 = 5282 115 21463 = 5321

0,7200] 115 113 2281 936 115 2156 883
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........................................................................................................................................................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................................................................................................................................................

[1000,7200] 10 8 247504 631764 10 1252.96 = 307639



